model {

# cycles through the different combinations of input parameters
for (a in 1:numcombs) {
for (i in 1:17) {
for (g in 1:2) {
r[i,a,g] ~ dbin(plg,a,il,nli,a,qgl)
rhat([i,a,g] <- plg,a,il*n[i,a,qg]
dev([i,a,g] <- 2 * (r[i,a,g] * (log(r[i,a,gl)-log(rhat[i,a,qg])) +
(n[i,a,gl-rl[i,a,g9]) * (log(n[i,a,gl-rli,a,gl]) -
log(nf[i,a,gl-rhat[i,a,qgl)))
}

sumdevl[i,a] <- sum(dev[i,a,])

pll,a,i] <- pi[l,a] * sef[i,a] + (l-pifl,al) * fpli,a]
pl2,a,i] <= pil[3,al*secli,a] + pil[2,a] * sel[i,a]l + pil[4d,a] *
fpli,al

logit(sel[i,al) <- lseli,al
logit(sec[i,al) <- lse[i,a] + dsela]
lse([i,a] ~ dnorm(0,.01)
lfpli,a] <= 1lse[i,a] - resltest[i],al
logit (fpli,al) <- 1lfpli,al
}
for (j in 1:5) {
res[j,a] ~ dnorm(mean[al,precl[al)I(0,)
}
z[a] ~ dbeta(l,1)
x[a] ~ dbeta(l,1)
# Ever exposed in control group
pi[l,a] <- ctprevlal
# Ever exposed in Non CT caused TFI
pil2,a] <= (1 - pil3,a]) * (pil[l,a] + zla] * (1 - pi[l,al))
# Proportion of TFI caused by C
pil[3,a] <- x[a]
# the negatices in the tfi group
pil4,al <- (1 - pil[3,al]) * ((L - z[a]) * (1 - pi[l,al))
# sum check
pil5,a] <- pil[2,a] + pil3,a] + pil4,al]
sumdev?2[a] <- sum(sumdevl[,a])

}





